AP Calculus AB Morning Test Review : Ch. 5. 6, Slope Fields
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1. Consider the differential equation given by % =5

a. Sketch a slope field through b. Find the particular solution y = f{(x) to the differential equation
the indicated points with the initial condition f(1) =1
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c. Write the equation for the tangent line to the curve y = f(x) through the point (1,1)

d. Use the tangent line equation to estimate the value of f{1.2)

2. Newton’s Law of Cooling: A container of hot liquid is placed in a freezer that is kept at a constant
temperature of 20°F. The initial temperature of the liquid is 160 °F. After 5 minutes, the liquid’s
temperature is 60 °F. How long will it take for its temperature to decrease to 30 °F?

Use the differential equation % =k(y —20)
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3b. Find the particular solution given y(5) =-2 | 3c. Sketch the solution through the given point and find
the domain
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6. [ m%adx (hint: complete th¢ square) | /- J esc(1 = 3x) dx




AP Calculus AB Morning Test Review : Ch. S, 6, Slope Fields SD/ u +’ Sh k e%

Xy

1. Consider the differential equation given by % =3

a. Sketch a slope field through the b. Find the particular solution y = f(x) to the differential equation
indicated points with the initial condition f(1) =1
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c. Write the equation for the tangent line to the curve y = f(x) through the point (1,1)
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d. Use the tangent line equation to estimate the value of £(1.2)

£0.2) = t(1a-N+) =11
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2. Newton’s Law of Cooling: A container of hot liquid is placed in a freezer that is kept at a constant
temperature of 20°F. The initial temperature of the liquid is 160 °F. After 5 minutes, the liquid’s
temperature is 60 °F. How long will it take for its temperature to decrease to 30 °F? / [ 3 ) ¢
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Use the differential equatlon =2 = k(y - 20)
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3. Match the slope field with the correct

equation:
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3b. Find the particular solution given y(5) =-2
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the domain )l(fﬁg ar/:'/*, wntery al s arts (ﬂ‘jv

- ¥R \'Q" IL@/M«M (‘}.’ OO)j
3 < v
o ({&’3’, )

2
- x =21

2

yEEAET

. LT 3
{ J 3 cf,u. S et
= = -5 X #a3
} 303)1:')4
- +C
e ,3%. du J A3 ’

6. f\/4 x2+2x

U - (X 2x+ ___) +
- 2x + _‘_) t

(4)= (2)=1

5-(x-0" + ~' yml—%

":'/v
g-ardsm(;‘gjﬂ,

g/ CXX ‘ c‘{)-(:(

[5Gy |+=0F

dx (hmt complete the square)

¥ ({rfsm

J/’ (X-'J

V?V\

~

1—@(

csc(l 3x)+cctU 3x)




